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I8 Y¥7-97 9N @S] 7 [G¥7/5d 37 797 8 — @ue &, &, T aor & |

59 Y97-97 § 7 35 I97 & | @ I97 fAard & |

GUE & 4 397 G&I1 1 - 16 & | T TGIH3 J97 3 | I Fv7 & forq 1 379 [Aeiia
8 | Y97 & STYR W, 1% v & I & qHar 8 |

GUE @ T 7 g8 17 - 25 & | 3 3fd Tg-37T 37 & | IAF ¥ & oY
2 37 [F9Ra & | Jedd I97 &1 I 37f&aq 30 visgl 7 g |

Qg T T J97 &I 26 — 32 § | F TY-IF0T Io7 § | FAB FoT & 70 4 3
[RERa & | Fed% o7 &7 I 3w 80 viegl § Ffow |

GUE T A YT GEI1 33 — 35 § | § FH-IHIT FH & | I9% T & [T 6 3P
RefRa & | Icd% 97 &7 I 37ferban 200 35 7 AT /

IGT7 1 GEIar & J97 G&IT 38 T I G197 | 15T T 3g<eg & Gerar & 57
&7 34 HT I T |

QUE F
SYFHY (A) :  SHaTG Sl TRA & & Eeh! TTasiiardt, gfg i G9EATd, T8N,
FAHIRTuT, qAT dehleh IR U0 o S8R SWA o U ST
T |
HRT (R) : dShtare UEl amiies =rewen B e SI9R Sewen # w9 4@
STET ATH A WX SR e Siar 2 |
(A) SRR (A) qAT RO (R) ST T@t 2 qe SRl (R), AR (A)
TE AT 7 |
(B) A% (A) T HRW (R) 3HI &l &, ATk BRI (R), T0HAA (A)
T AT g7 @ |
(C) AT (A) T&l 8, TR SR (R) Td 7 |
(D) 3P (A) TAd &, WlhT RO (R) Tl 7 |

GEHATRUl o g W § | gHeRl YW Hefaiad # § feed @ s
el & ?

(A)  hael WTNT (B) hadt HifEe

(C) had A1eH (D) 9T, |ifged, e
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General Instructions :

Read the following instructions carefully and follow them :

(1)

(it)

(i11)

(iv)

(v)

(vi)

(vii)
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The question paper is divided into four sections — Section A, B, C and D.
There are 35 questions in all. All questions are compulsory.

Section A includes questions no. 1 — 16. These are Objective Type Questions,
carrying 1 mark each. As per the question there can be one answer.

Section B includes questions no. 17 — 25. These are Very Short Answer type
questions, carrying 2 marks each. Answer to each question should not exceed
30 words.

Section C includes questions no. 26 — 32. These are Short Answer type
questions, carrying 4 marks each. Answer to each question should not exceed
80 words.

Section D includes questions no. 33 — 35. They are Long Answer type
questions, carrying 6 marks each. Answer to each question should not exceed
200 words each.

Question no. 33 is to be answered with the help of given graphics. Question no.
34 is to be answered with the help of given passage.

SECTION A

Assertion (A) : What marked capitalism from the very beginning was its
dynamism, its potential to grow, expand, innovate, and
use technology and labour in the best possible way.

Reason (R): Capitalism is an economic system organised to
accumulate profits within a market system.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

The impact of Sanskritisation is many sided. Its influence can be seen in :
(A) Language only (B)  Literature only
(C)  Drama only (D) Language, Literature, Drama
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3. fTmafafga # @ gi@ wifa & fau sia-a1 s ad 787 2 2
(A) N Ifd BV YRR 1 Th TR HRIHA o |
(B) 38 fore o2 A9 W anifdfer wemrdn Sfauisd weansti gy & T off |
(C) BN shifd Uehat 6l g Tet foer, Iaff IO Jew qen aaimT § <elt |
(D) BN I I&T €9 8 g a1 I 391G HiA a1t &1 X Afera off |
4. Tfafga @ @ - aiifcafah et & famvan(€) 8/8 2
I. 989 i TorHid
II.  YTehideh HETEAT I AT Sred
1. Hr&ehides =]
IV. WMISeh TEHH
(A)  had I 3R II (B) had II
(C) <had III (D) L IIIII 3R IV
5.  hild8-19 HeM & AU Thsl IR R HHANEl 4 o § w1 & |
frferiiad § @ &9 50§ %W W Al AN 2 Hehell B 2
I TS aeX
1. el 3Em
III. Wi 3T
Iv. ot s sl
(A)  T3ARII (B) I3dARIV
(C) IIARIII (D) 1,11, III 3R IV
6. Ui dt w, guul fava # =g grn e R f6 erfreis 2w & Rt i G
TENi 61 e Al i Bt 3 | fAfaRaa § @ foR went 4 38 W SARn 2
I T Sfad =% % g SR W g § fues Sfifad wdt |
I Tory srawen 4 @iefrat gt o fa ufaed Bt g |
III. o <l MAfHehdl g1 aTet form stamia af@mr |
IvV. o dexy =aagr |
(A) I, II 3R III (B) I3ARIII
(C) MIIRIV (D) I3ARII
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Which of the following statements is not true for Green Revolution ?

(A)  Green Revolution was a government programme of agricultural
modernisation.

(B) It was largely funded by international agencies.

(C)  The first wave of the Green Revolution package was received by
Bihar, Eastern Uttar Pradesh and Telangana.

(D) Green Revolution was targeted mainly at the wheat and rice
growing areas.

Which of the following is/are the characteristics of Ecological movements ?
I. Identity politics

I1. Greater exploitation of natural resources

III.  Cultural anxieties

IV.  Social inequality

(A) OnlyIandII (B) OnlyII

(C)  Only III (D) L ILIIIand IV

Due to COVID-19 pandemic hundreds and thousands of workers worked
from home. Which of the following can allow work from home ?

I IT sector

I1. Bidi Industry

III. Maruti factory

IV.  All Government firms

(A) TandII (B) IandIV

(C) IIandIII (D) LIL I and IV

Historically, all over the world, it has been found that there are slightly
more females than males in most countries. Which of the following
factors made this possible ?

I. Women tend to outlive men at the other end of the life cycle.
I1. Girl babies are resistant to boy babies in infancy.

III. Gender-based families with preference for sons.

IV.  Gender neutral behaviour.

(A) I IIandIII (B) TandlIII

(C) IIandIV (D) TandII
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7. SUMATETE H 1A HEAT H b HEw Yol qiEdd oy |
39 o 9 FElUd 6l e T

(A) 1903 T g gl & Fdem o ST S TS |

(B) 38 SHIUET | SII{d o HTHINISh AISHA & aR H whis STHhR] Shel Tal
% |

(C) I 7 fuss ot & seamor A ot wfw &t |

(D) 1950 T WRd TR AfufEm uifa fear mn fem o= go fomiw
=agR & foru fgifa sifaai qon Seenfast 6t gt =1 st =
I AT YeF H E |

8.  3Thal TLHNI HRATE TN IiEdd gHfvaa T&f ot Tehdl | TN IiEdH
gHfTad o o T 9 3R 1 SiigH it ATawehal & ?
(A)  had AT U GTeA
(B) had HIfEed | IS
(C) <had F=R Hifean

(D) AT AT 9184, 9ifecd | INeH, J=r Hifgan
9 b

9. IyBHyT(A): Tafauar wsg FEHHAIST % S a0 W 9 <l 2 |

HR (R) : Tehfceh fafaedr SR FAMfaal Jeqa L Tl 3 |

(A)  INYHI (A) AT SR (R) ST T&l & 997 SR (R), TR (A) h
TE ST 7 |

(B)  39HYA (A) TAT HRU (R) GHI Hal &, kT SR (R), THRAT (A)
TEl AT TE7 2 |

(C) fiyemed (A) Tl 8, AAfehd RO (R) Tefd & |

(D)  AMHI (A) T B, kT RO (R) Tl 7 |

10. wf-FHft o wEd e i F© AR wRen & ot vHg w2 |
fefafga 5 9 w991 srw 787 8 2
(A) &l o g i feh o g €
(B) T Shed § sraffedl & dueh gdr @ar @ |
(C) draTsl, 9 Y 3 MR it 9 @t gufa & wengd o e s
T ST & R
(D) HHIRNTS &9 & TYcaRIel AT T9El & TU&Rhd T AN el H St

o~

s Wt ®W i ¥ fEafrard 2 |
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7. Colonialism brought about significant changes in the institution of caste.
Choose the correct statement related to this statement.
(A)  The 1903 census was done under the direction of Herbert Risley.
(B) No information was collected on the social hierarchy of caste.

(C) The administration also took interest in the welfare of the
downtrodden castes.

(D) The Government of India Act of 1950 was passed which gave legal
recognition to the lists or schedules of castes and tribes marked out
for special treatment by the state.

8. State action alone cannot ensure social change. What else does it need to
be supplemented with to ensure social change ?

(A)  Civil society organisations only

(B)  Contributions to literature only

(C) Mass media only

(D) Civil society organisations, Contributions to literature, Mass

media
9. Assertion (A) : Diversity emphasises differences rather than inequalities.
Reason (R):  Cultural diversity can present tough challenges.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

10. Sometimes cities may also be preferred by people for social reasons.
Which of the following is not a reason ?
(A)  Cities offer relative anonymity.
(B)  Urban life involves interaction with strangers.

(C)  Continuous decline in common property resources like ponds,
forests and grazing lands.

(D) The poorer sections of the socially dominant rural groups do not
engage in low status work in cities.

62-11 Page 7 of 19 P.T.O.




@ collegebatch con

11,  F=fARad § & H-91 T gt @ dafed 787 @ ?
(A) foER 3 ST 9=y % Fea
(B) hleeh o dlaehionl
(C) YITE & SATE

(D) dfeTg % TE
12. Yo (A): JEUE Th Gg % He&l g1 g8t THg % oK § qeehicqd foar
I SRR BT 7 |
HRI (R) : Ama () for fawa <t S 3R foar g qeai =&l w@
yeaTTd H & s foram e 2 |
(A) AR (A) T HR (R) IHI TEl & T HRU (R), AR (A)
TE ST 7 |
(B)  31f¥ehed (A) AT HRUT (R) SHT Tl &, Ak HROT (R), AT (A)
el AT Tg7 ? |

(C) AT (A) &I g, Wl R (R) Td 2 |
(D)  ANHI (A) T B, kT HRUT (R) Tl 7 |

18. ST (A): 9 IR TSHITS T o JUERRU 5 qead o dHETe
sfier® | T wet Hie o fer |

R (R) : I JUFRLT GH-RIERT AT SSied 8 98 o T 918 &

S e @ wEfud on, wEife 9 gd w UH IfEn

TR < S Wfogs SARHT SaER * €9 H §¢d el T

o |

(A) AR (A) 9AT HROT (R) THT T& & AT RO (R), 3TFheA (A)
TE AT 7 |

(B)  3If9eheM (A) AT SR (R) SHI H&l 7, Wl HRUT (R), AR (A) H
el AT TE ? |

(C) AfYRYA (A) @& 8, Afehd HRUT (R) TeTd 8 |
(D)  HANHAT (A) TeTd B, i Rl (R) 981 & |

14. 3R ki fifd o 3Taq T yrflert gt B, gt e i
Tk AU SR ST SHHT 3 |
(A) WTO (B) EPC
(C) WHO (D) UNCTAD
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12.

13.

14.
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Which of the following do not belong to each other ?
(A)  Yadavs of Bihar and Uttar Pradesh

(B)  Vokkaligas of Karnataka

(C)  Jats of Punjab

(D) Khammas of Tamil Nadu

Assertion (A) : Prejudices refer to pre-conceived opinions or attitudes
held by members of one group towards another.

Reason (R): An opinion is formed in advance of any familiarity with
the subject, before considering any available evidence.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Assertion (A) : The separation of religious and political authority marked
a major turning point in the social history of the west.

Reason (R): This separation was related to the process of
secularisation or the progressive retreat of religion from
public life, as it was converted from a mandatory
obligation to a voluntary personal practice.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

The policy of liberalisation entails the participation in the ,

which aims to bring about a more free international trading system.
(A) WTO (B) EPC
(C) WHO (D)  UNCTAD
Page 9 of 19 P.T.O.
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15. ‘A@a & fore ffiiied § 9 SH-H fonivar 7e7a 7 2
(A) T I HE F TES T B
(B) I8 M <l 3T Yk I1AT BT 8 |
(C) <N 319 H1E I AT 9 ¢@ I1d & |

(D) IO 39 o1d W A wdl 8 for wefid aeei sm o e feraan
TYH Jred! & |

16. T TG o fore f=feifed § & H-91/8 9 8/8 ?
I IyeaH s ¥
II. d %had 9 YR T TS 8d & |
III. 98 hl TSHIT, FERideh =ATd qel FHATIC ¢ qHISH SR

61 TTHT HH 6 U A998 a9 7 |
IV. 9 USHIfdes 2l o e | 781 2 |
(A)  had I (B) I3 II
(C) I, III3R IV (D) 113 I
wig @

17. (%) Y & YHSAHU H Th I qA1 AU T 9§ TGOS Hual
H 3H &F W PN Hel N &S, A qon @i o fashar & &9 H
YoIwT B | TUS q oh EUE ¥ FRR A 39+ FN foshrE Hriswar d
Ht i 7 qAT B faEq®’ Teiei 1 TIH T § S, @IG a=T hieAT
T o TSidi 4 o o & |
ST TG o MYUR W, = feu 7w 37 1 3 e :
FY HY Aok SATTHRI Bl S &l 3 ? 2

AT
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Which of the following features is incorrect for alienation ?

(A)
(B)
(®)
(D)

People do not enjoy their work.
Work is repetitive and exhausting.
People see the end result of their work.

Survival depends on whether technology has room for any human

labour.

Which of the following is/are true for New Movements ?

L.
II.

III.

IV.
(A)
(&)

(a)

They are global in nature.
They are organised along class lines alone.

Identity politics, cultural anxieties and aspirations are essential

elements for these movements.

They are not within the framework of political parties.

Only I (B) TandII
I, III and IV (D) IIandIII
SECTION B

The more widespread aspect of the globalisation of agriculture is
the entry of multinationals into this sector as sellers of agricultural
inputs such as seeds, pesticides and fertilisers. Over the last
decade or so, the government has scaled down its agricultural
development programmes and ‘agricultural extension’ agents have
been replaced in the villages by agents of seed, fertiliser and

pesticide companies.
Based on the given passage, answer the following question :

How is agriculture becoming more commercialised ? 2

OR

Page 11 of 19 P.T.O.
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(@) TS R A g st S fE&aE glound, weeh, fosieht den Sy
et Imftor stfeea § faw fomn | fafia &9 8 &Y 3amg 4 9ig &
foru fomm foreft sty o fosTeft deag oft ymior v & fore sTmawres 2 |

3UYth T=0q b YR W, = {4 T¢ e =1 I i
A TR i BT & § I i T8 ATe1 39 e | T Hewayel s
7 | Ao 1w faRaw | g\ e 1 gwy afm @ g 2 1+1=2

TSR 3R TI-USHTR GET i o foIU W TR A e HRIsHAT ol Iey foran
2 | Torgl a1 rishHl o A9 Fd1SY | §9 hIIHHT T HhRIcHs JNOH 1 & ? [+1=2

T qNEd SR JHIN QI o sie 3T JdTsy | 1+1=2
HieeT el ol HHTSIRITEAY Wewel @ | 36 9  gueld 4§ g1 fog foiay | 1+1=2

“@m rfatEm, 1952”7 61 g feRyard sarsu | 2

FfFft B TSI w TS Tafg g I Rafa ot e =@ 7
“RTTcHeh TG U AT & ? THeh! IIHA i a1t foheal &1 QRN o AT Fa1ST | 1+1=2

ST & fohre dadt Rl iR st 3 61 |99fg 3 vy €9 9 Sfd

FEAT ! YTl fopam | hiE @ alieh Sarst foFd I8 T0% Bian 2 | 1+1=2

(%) TRk T 1 w1s & faRmand fafen | 2
STt

(@) Y=g "ey § ‘e’ #4918 2 2

AT Ha g @ b fafte wmrit # fafqy yer & qfier ww S 2
AATE & T & FTTER IiER & g Jhr fafEu | 1+1=2
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(b)  The state invested in the development of rural infrastructure, such
as irrigation facilities, roads and electricity and on the provision of
agricultural inputs. For regular agricultural growth, uninterrupted

power supply to rural India is one of the necessities.
Based on the given passage, answer the following question :

A recently launched scheme is an effort of the Indian Government
in this direction. Name the scheme. State the overall result of this

scheme. 1+1=2

To generate employment and self-employment the Government of India
floated many schemes. Name any two schemes. What is the positive
outcome of these schemes ? 1+1=2

Differentiate between social change and social movement. 1+1=2

Contract farming has sociological significance. Give two points to support
this statement. 1+1=2

Mention two features of “The Mines Act, 1952”. 2

Sometimes societies can experience a ‘negative growth rate’. What

is ‘negative growth rate’ ? Name any two countries that have experienced
it. 1+1=2

The development activity of the state and the growth of private industry

affected caste indirectly. State any two ways in which this is evident. 1+1=2

(a)  Write any two features of community identity. 2
OR

(b)  What is ‘regionalism’ in the Indian context ? 2

Studies have shown how diverse family forms are found in different

societies. With regard to rules of residence, write two forms of family.  1+1=2

Page 13 of 19 P.T.O.
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26. SHSIAT @I W ‘ATCH (pristine) 3fq Wit 31eran fosg gumr, S dva
T 3P 1§ 8, AHA 1 IS GEIA TGN T&l g | I8 3T gRon g Foh S
THEH 3 T i 3T IR TUTESH TSI b GHH 3 Sl HTSeh qiadHi
T I © g ot ft I dR W forme 8 gTaAiteh, bl de 99 § I8 99
T @R |
IR IR=DE o YN W IR HRO Fq1d §Y T I foh Sl o T

B T fomm =i s B | 4
27. (&) fefew suftasmEm s ot guR e o1 v wfea femm 2 1 3 2 4
AUAT
(@) =R 3TEWN T G ¥ 9arst fob IrRa ¥ s w1 g9 fohm
TR g 3 forieTens &1 8 ? 4

28. onygfes wid H fer di feufd o1y seedt wdt o meyarfla amiiaes gun
HGIAH! o Toh TGHH o &9 § 3ed g7 | 37 AQIeH! ol Toey |t &3 § T
ST & o |
et 1 feufa o6t aaifaa w arat fhegl g amIioe GUR STTeIeHl ohi STl
IR | 4

29. “H U I1gy¥ ANk 7, GHS, had s@iaT foh AN g9 <@ & AR =med |
gha o qaEE A Hi-wi gsda i <@r e g 0 feafa ot e o= &
2 | UH AT @ Al H e fogderrdt gdun | BRI g | S AT 3 9 31 § dl
7 9Ray & @ § S ST AU heuIsT ¥ S § | 3T, d I BIg
h! T6 $S <@ Tohd & |7 (U, 1952 : 3)
favaww § “Fferar/steqmar’ &1 S e THEM ST R 3k O AT A

ECIEA 4
30. ‘TERdIRT Weg I Icu fopd wuRME! g A TS ? HEhARRWT 4

Gt § it TSy | 1+43=4
31. 3MufFafyrs yra & S g IE I TE A o o I YU T e

I | 2+2=4
32. HAT &F o FGd DR o SMEs[E, WA 3t off FhI 75 TF TH FN TUH <

2 | B FATT, | 4
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SECTION C

26. Some scholars have argued that there is no coherent basis for treating
tribes as ‘pristine’ — i.e., original or pure — societies uncontaminated by
civilisation. The idea that tribes are like stone age hunting and gathering
societies that have remained untouched by time is still common,
even though this has not been true for a long time.

Based on the above passage, justify with four reasons why this idea of

tribes having remained untouched is untrue. 4
27. (a) British colonialism is still a complex part of our lives. How ? 4
OR
(b)  With the help of four examples, show how the impact of the
English language has been many sided and paradoxical in India. 4

28. The women’s question arose in modern India as part of the nineteenth
century middle class social reform movements. The nature of these
movements varied from region to region. 4

Explain any two social reform movements that addressed the women’s
question.

29. “I am invisible, understand, simply because people refuse to see me. Like
the bodiless heads you see sometimes in the circus sideshows, it is as
though I have been surrounded by mirrors of hard distorting glass. When
they approach me they see only my surroundings i.e., themselves or
figments of their imagination. Indeed everything and anything except me.”

(Ellison, 1952 : 3)

Mention some of the common features central to the public perception of
‘disability’ all over the world. 4

30. Which sociologist coined the term ‘Sanskritisation’ ? Differentiate
between Sanskritisation and de-Sanskritisation. 1+3=4

31. Explain two land revenue administrative systems introduced by the
British in colonial India. 2+2=4

32. Despite the increasing size of the services sector, India still is largely an
agricultural country. Give reasons. 4

62-11 Page 15 of 19 P.T.O.
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33. YRT B TTGEIT Hl 3 T T, 1961 — 2026
¥ Iy ElS
0-14a% | 15— 5999 | 60 a¥ & 31ferh
1961 41 53 6 100
1971 42 53 5 100
1981 40 54 6 100
1991 38 56 7 100
2001 34 59 7 100
2011 29 63 8 100
2026 (J&fUd) | 23 64 12 100
ITh IRt o e W, Fefafad yei % ST N
(F) TAACIHRE ATH & R AU B 2 2
(@) 39IH GOl & YR W, 99 1961 R 2026 % 3Thel shi JoHT HIIT
I 79T Tsepd aTsU | 2
(1) TR gen wwisadr st i Haly SR wlg 1 Eid U S Hehdl
2 ? 3coi@ HIT | 2
Fie: HEICTRIT J97 HaT gleamiaa qiemferl & 77 3. d. 33 & T W& :
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Hiehg gwid & fo6 a1 1 dqul SwEe o 15 ad & A g a1t o o e o
1961 H 41% % Tai= T W AT Tehl 2026 H 23% & TR W AT ST |
15 — 59 % 3Tg a1l ! TG0 53% & S TR 64% Bl AT FA«h 60 a9 &
3ftrsh shl 3T Tt ol o1 fowen 9gd ®iel @ fehd a8 I el & QA s
(6% 8 12% ) & & T § | Alhs A & fh 0 — 14 3y o 1 fgwwn
T 18% T2 ST (1961 W 41% ¥ TR 2026 | 23%) Jafh 60 a9 & AT
o MY T H AT 6% h! Ihg BN (1961 H 6% & FgH 2026 H 12%) |

few U el o auR W, ffaiad g & I dfse

(%) SHETTEIHE AT & 1 I B 2 2
(@) 3IWH =g o MR W, I 1961 3T 2026 & AThel hl ol
Hifsre 3R 3ron fsed wraTsT | 2
() fiwar gen wufydar s i dafy o wufy w1 da S8 o T
2 ? Iooi@ hifNTT | 2
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AN
SECTION D

33. Age Composition of the Population of India 1961 — 2026

Year Age groups Total
0 — 14 years | 15 — 59 years | 60+ years
1961 41 53 6 100
1971 42 53 5 100
1981 40 54 6 100
1991 38 56 7 100
2001 34 59 7 100
2011 29 63 8 100
2026 (Projected) 23 64 12 100

Based on the above table, answer the following questions :

(a) What is meant by demographic dividend ? 2

(b)  Based on the data given in the above table, compare the data of the
years 1961 and 2026 and state your inferences. 2

(c) A falling dependency ratio can be a source of economic growth and
prosperity. State how. 2

Note : The following question is for the Visually Impaired candidates only
lieu of Q. No. 33.

Data shows that the share of the under 15 age group in the total

population will come down from its highest level of 41% in 1961 to 23% in

2026. The share of the 15 — 59 age group will increase slightly from 53%

to 64% while the share of the 60 plus age group is very small but it has

begun to increase (6% to 12%) over the same period. Data shows the

0 — 14 age group will reduce its share by about 18% (in 1961 — 41% to

23% in 2026) while the 60 plus age group will increase its share by about

6% (in 1961 — 6% to 12% in 2026).

Based on the given data, answer the following questions :

(a) What is meant by demographic dividend ? 2

(b) Based on the data given in the passage, compare the data of the
years 1961 and 2026 and state your inferences. 2

(c) A falling dependency ratio can be a source of economic growth and
prosperity. State how. 2
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34. < H U I It FE T WA afeid GeH g ge = | fafvm otigrei
3 eferdl @ gefq fafie gei =1 fofie femmemst & smeum suw R | efod
STTGITHT <hl Shid AT 8= o 319 H fiaar & Sresg 394 SHMdT, STeHErT=
AT LI I o folT T FHHAT h1 @ieT &1 W] | (M8 2001 : 194)
3TTag o MER R, fFfefaa gt & 3w v
(%) I G % Hig &l I¢TE fAfay | 2
(@) Tfera SAgieHl g 39WR febe T fafie gei w ==t shifv | 4

35. UK T IFIS [hEH H HUGHA 21 g THeH JUH a1 I 3 W 38 qRATNG
AT Hiod & | THT F4f ?
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34. There has not been a single, unified Dalit movement in the country, now
or in the past. Different movements have highlighted different issues
related to the Dalits, around different ideologies. Notwithstanding
differences in the nature of Dalit movements and the meaning of identity,
there has been a common quest for equality, self-dignity and eradication
of untouchability. (Shah 2001 : 194).
Based on the given passage, answer the following questions :
(a)  Write any two examples of Dalit Movement. 2
(b)  Discuss the various issues highlighted by the Dalit Movements. 4

35. A nation is a peculiar sort of community that is easy to describe but hard
to define. Why ? 6
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